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6 Matteo is saving to buy a new computer
that costs $2,000. He has already saved
$450. Each month he saves another $300.
Which equation can be used to find ,
the number of months it will take before
Matteo can buy a new computer?

F300m + 450 = 2,000
G 300+ 450 + m = 2,000
H 300 + 450m = 2,000

J300m — 450 = 2,000
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1f5 gallons of water weigh 42 pounds, how
‘much would 2 gallons of water weigh?

A 1281
B 1681
c 20
D 10516
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‘This spinner is divided into 8 sections of
equal size.

Ifthe arrow is spun once, what is the
probability that it will stop on a section
Iabeled with blue or green?
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‘Tanya babysits on the weekends. She
puts 35% of what she earns in a savings
account. She uses 20% for school supplies,
and the rest for lunch money. What is the
ratio of the amount saved to the amount
used for lunch money?

A 97

B 79

c 74

D 49
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10 A football team has 10 players whose
average weight i 140 pounds. The
eleventh player weighs 162 pounds. What
s the mean weight of the players on this
team?

F 1411b
G 1421b
H 1481b

4 Cannot be determined with
information provided
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11 Weston made the table below to show the
heights and radii of three cylinders. Which
equation shows the relationship between

the height and the radius?
Radius (1) | Height (h)

3 7

4 8

s 9

h=r+4
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12 Which shows a relation that is a function?

F

st of animals with 4 legs

G coaches and number of wins

Nashville high temperatures in
August

list of neighbors and number of pets.
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1| Mr. Jones wants the table tennis team to
‘win 64% of its games. What fraction of its
games is this?
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2 Which inequality is true?
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‘Which hest describes the relationship
between the input values and the output
values?

Input Output
4
9
2
9

inversely proportional
directly proportional
exponential
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‘The table below shows the cost y of x
‘granola bars purchased at a local market.
‘Which equation relates x and y? Use the
equation to find the cost of 12 granola bars.

x| 1 [ 23 [4]s
v [s075[s150 [ 52,05 [ 83 [ 5375

F oy=075559

Gy =175x 5900

H y =075+ 07555375
3 y=12555
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Point K represents the approximate

Tocation of which number?
x
EEEEER
A V25
B V30
c V36
D Vg




